Exam Review 4 – Operations on Integers – Answer Key
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1a)(-)+(1)=-2 b) (+9)+(+9)=+18
() + () +(3)=-9
d)(+7) + (+7) + (+7) =421
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22)+35 b)-60 ) -16 d) 48
3.-10°C
4.2) Negative b) Positive
©) Negative d) Positive
5.2)-63 b) +28 o) -143
d)+880  e) -17 1o
6a)-6  b) <10 )0 d) +15

7.(-55) x 6=-330: 330 mL

8. Answers will vary. For example:
Jari spends $7 on lunch at school. How much
does it cost him to buy lunch for 5 school days?
(+5) x (-7) =-35: 835

92)+5 b4 )3 d =
10.2)-6 b) +7 c) -7 d) +5
11.2) 13 weeks b) (-65) = (-5) =+13
©) Tyler has $65 to withdzaw.
12.3) Negative b) Positive
c) Negative d) Positive
13.2)+8 b) -8 c)-11  d) +14
14a)+9 b4 -3 d)o
152)2  b)3 ) +5  d)+o

16.2) (-63) = (-3)

b) +21;21 days

) She does not refurn any of the candies to the
jar.
17. Answers may vary. For example
Renisa refurned 9 glasses to a store. She received
$72 in store credit. What was the average cost of
aglass? (+72) = (-9) = —8: $8

18.(21) =

21+

21+

(21) = (21) =+1; (221) = (+21) =1
19.2) Multiply b) Divide

c) Subtract d) Multiply
20a)16 b -1 c)2 d) 12
21a)-16  b)-1 ¢ 12 d)-18
22.2)3 b3 o) 4
2a)+1 b2 o)+

24.2) Corey: +1; Suzanne: -2 b) Corey




